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5. B (BERJVELEZLESR

® # # o

- EEARVIEEEZLES

KERBERVIELE=ILE KEEW 13 F4.0m N ok
KERBERVIELE=ILE KEEW £16 F4.0m N ok
KERBERVIELE=ILE KEEW £20 F4.0m N ok
KERBERVIELE=ILE KEEW #25 F4.0m N ok
KERBERVIELE=ILE KEEW %30  F4.0m N ok
KERBERVIELE=ILE KEEW %40 R5.0m N ok
KERBERVIELE=ILE KEEW %50 K5.0m N ok
KERBERVIELE=ILE KEBEW &75 £5.0m N Kok
KERBEERYELE=LE KEEW %100 5. 0m X Hork
KERBEERYIEELE=LE KEEW %150 5. 0m X *ork
BER)IELE-LE —fREVP %13 &4 .0m 7N Kok
BERVIEEE=LE —fREEVVP ®&16  K4.0m & Hokok
EERYBEEZLE —fREVP 1220 R4.0m X ook
EERYBEREZLE —fREVP 1225 R4.0m X ook
BER)IELE-LE EVP 230 4. 0m Z:N Fokk
BERYBLEEZLE BVP 240  £E4.0m & ook
BER)IELE-LE EVP_ 250 4. 0m N Kok
BERJIELE-LE EVP 265 &4 0m Z:N Fokk
BER)IELE-LE EVP #£75 4. .0m Z:N Fokk
BER)IELE-LE EVP_ #2100 &4 Om Z:N Fkk
BER)IELE-LE EVP #2125 £4.0m Z:N Fokk
BERJIELE-LE —fREVP %150 4. 0m 7N Kok
BERVIEEEZLE —REEVP %200 F&4.0m x ook
EERYBEEEZLE —HREVP 12250 &4.0m X ok
BEARUBLEEZLE BEVP 2300 £4.0m & ook
BHAY =)L SEEEVU_ 40 £4.Om & ok
BEARUBLEEZLE MV {850  £4.0m X Kook
BEARYBLEE=LE EHEV 1265  £4.0m X Kook
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# ® " " we | % E
BERYEEEZLE AW #75  &4.0m & sk
BERYEBEEZLE HEAEVW 2100 K4 0m = orok
BERYEEEZLE AW 2125 £4.0m & sk
BERYEEEZLE BAEW 2150 £4.0m & ok
BERYBEEZLE BAEVW 200 K4.0m = otk
BERYEEEZLE BAEW #2250 £4.0m & sk
BERYEEEZLE BAEW #2300 £4.0m & sk
BERYEBEEZLE HEAEVW 2350 F£4.0m = otk
BERYEEEZLE FEAEVU 2400 £4.0m & sk
EERYBEEEZLE BREV 12450 &4 0n X ook
BERVIEEEZLE BBV {2500 £4.0m & Hokk
BERYEEEZLE FEAEVU #2600 £4.0m & sk
BEARVIELESLE EEZOMEE TSH2Y-7" —RREVP 250 &4.0m & Hokk
BEARVIELESILE EEZOMEE TSH2Y-7" —RREVP %65 &4.0m & ok
BEARVIEELE-ILE EEZOMEE TSH2Y-7" —RREVP %75 &4.0m & Hokk
BERECE-LE BEEZIOMEE TSHRY-7 —HREVP 2100 £4.0m E: ook
BEREEE-LE BEEZIOMEE TSHRY-7 —HREVP 2125 &4.0m E: ook
BEARVIELE-LE EEZOMEE TSFH2Y-7" —RREVP %150 &4.0m & Hokk
BEAREECE-LE BEEZIOMEE TSHRY-7 —HREVP 2200 £4.0m E: ook
BEREEE-LE BEEZIOMEE TSARY-7 —HREVP 2250 £4.0m E: ook
BEARYEEE-LE BEEZIOMEE TSHRY-7 —HREVP 2300 £4.0m E: ook
BEARVIELESLE EEZOMEE TSH2Y-7" FAEV %50 &4.0m & Hokk
BEARVIELESLE EEZOMEE TSH2Y-7" FAEV %65 &4.0m & ok
BEARVIELE-LE EEZOMEE TSH2Y-7" FAEV %75 &4.0m & Hokk
BEREEE-LE BEEZIOMEE TSHRY-7 BV 2100 £4.0m E: ook
BEREEE-LE BEZFOMEE TSHRY-7 BV %125 £4.0m E: ook
BEREEE-LE BEZIOMEE TSHRY-7 HAEW %150 £4.0m E: ook
BERECE-LE BEEZIOMEE TSHRY-7 BV %200 £4.0m E: ook
BEREEE-LE BEZIOMEE TSHRY-7 BV 2250 £4.0m & ook
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BERUEBEE-LE BESONEE TSHAR)-7" HAEVU 2300 K4.0m orok
BERUBEE-LE BEESONEE TSHR)-7" HAEVU 2350 K4.0m otk
BERYEBEE-LE BESONEE TSHR)-7" HAEVU 2400 K4.0m otk
BERYEBEE-DLE BESONEE TSHAR)-7" HAEVU 2450 K4.0m otk
BERYEBEE-LE BEESONEE TSHR)-7" EAEVU 2500 K4.0m otk
BERUEBEE-LE BEESONEE TSHR)-7" HAEVU 2600 K4.0m otk
KERITLGBEERYIEBLEZLE RREZEE £50 FK5.0m ok

KBRS LBBEER Y EEE = LE RRESE® 275  £5.0m -

KBRS LBBEER Y EEE = LE RREZEE 2100 £5.0m ok

KERATLGHEERVIELEZLE RREZEE %1256 &5 .0m *okk

KERATLGHEERVIELEZLE RREZEE £150 £&5.0m wokk

KERATLGIEERVIELEZLE RREZEE %200 £&5.0m *okk

KEATLGHEERVIELE-LE RREZEE %250 £&5.0m *okk

KEATLGREERVIELE-LE RREZEE 2300 £&5.0m kK

BERKAEERVELEZLE (W) RRAZEE %200 £4.0m *okk

BERKAEERVELEZLE (WP) RRAZEE %250 £4.0m wokk

BERKAEERVELEZLE (WP) RRAZEE %300 £4.0m *okk

BERKAEERVELEZLE (W) RRAZEE & 75 £4.0m wokk

BERKAEERVELEZLE (W) RRAZEE %100 £4.0m wokk

BERKAEERVELEZLE (W) RRAZEE %125 &4 0m kK

BERKAEERVELEZLE (W) RRAZEE %150 £4.0m *okk

BERKAEERVELEZLE (W) RRAZEE %200 £4.0m wokk

BERKAEERVELEZLE (W) RRAZEE %250 £4.0m kK

BERKAEERVELEZLE (W) RRAZEE %300 £4.0m *okk

BERKAEERVELEZLE W) RRAZEE %350 £4.0m *okk

BERKAEERVELEZLE W) RRAZEE %2400 £4.0m *okok

BERKAEERVELEZLE (W) RRAZEE %2450 £4.0m wokk

BERKAEERVELEZLE W) RRAZEE 2500 £4.0m *okk

Rl e e o o e o o e e

BERKAEERVELEZLE (W) RRAZEE 2600 £4.0m wokk
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EERABEEAYELE=LE (VW) ISHRY—7 275 £5.0n * _
EERABEEAYELE=LE (VW) TSHRY—7 100 £5.0n & 5, 450
EERABEEAYELE=LE (VW) TSHRY—7 2125 £5.0n * _
BERKRAEERUEBEEZILE (W) TSHRY—7 %150 &5.0m Z:N 12, 400
EERABEEAYELE=LE (VU) TSHRY—T 2200 £5.0m & 10,700
EERABEEAYELE=LE (V) TSHRY—7 2250 &5.0n * _
EERABEEAYELE=LE (VW) TSHRY—7 12300 £5.0n * _
EERABEEAYELE=LE (VW) TSHRY—7 12350 £&5.0n * _
EERABEEAYELE=LE (VW) TSHRY—7 f2400 £5.0n * _
EERABEEAYELE=LE (VW) TSHRY—7 12450 £5.0n * _
EERABEEAYELE=LE (VW) TSHRY—7 £2500 £&5.0n * _
EERABEEAYELE=LE VW) TSHRYU—7 12600 £5.0n * _
BEAK ) AL =LA TLE (VP) TSHRY—TJ 240 54 0n & wrx
EERABEEAYELE=LE (P) TSHRY—T 75 £5.0m % 6,970
EERABEEAYELE=LE (P) TSHRY—7 100 £5.0n & 10,800
EERABEEAYELE=LE (P) TSHRY—T 125 £5.0n % 6,970
EERABEEAYELE=LE (P) TSHRY—7 150 £5.0n & 21,500
EERABEEAYELE=LE (P) TSHRY—7 2200 £5.0n % 28,500
EERABEEAYELE=LE (P) TSHRY—7 2250 £&5.0n * _
EERABEEAYELE=LE (P) TSHRY—7 12300 £5.0n * _
EERABEEAYELE=LE (VW) TSHRY—7 12350 £&5.0n * _
EERABEEAYELE=LE V) TSHRY—7 2400 £5.0n * _
EERABEEAYELE=LE V) TSHRY—7 2450 £&5.0n * _
EERABEEAYELE=LE V) TSHRY—7 £2500 £5.0n * _
EERABEEAYELE=LE (V) RRESE®E £ 75 £5.0n % ok
EERABEEAYELE=LE (V) RRESEE 2100 £5.0n & ok
EERABEEAYELE=LE (VW) RRESE® 2125 £5.0n & ok
EERABEEAYELE=LE V) RRESEE 2150 £5.0n & ok
EERABEEAYELE=LE (VW) RRESEE 12200 £5.0n & ok
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% # ® % By = |
EERABEEAYELE=LE (VW) RRESE® 1250 £65.0n * -
EERABEEAYELE=LE (VW) RRE S 1300 £5.0n * -
EERABEEAYELE=LE (VW) RRE S 1350 £65.0n * -
EERABEEAYELE=LE (V) RRESEE 12400 £5.0n * -
EERABEEAYELE=LE (VU) RRESEE 12450 £5.0n * -
EERABEEAYELE=LE (V) RRESE®E 1500 £5.0n * -
EERABEEAYELE=LE (VW) RRESEE 12600 £5.0n * -
EERABEEAYELE=LE (P) RRESE® 12200 £5.0n * -
EERABEEAYELE=LE (P) RRESE® 2250 £5.0n % -
EERABEEAYELE=LE (P) RRE S 1300 £5.0n & ok
EERABEEAYELE=LE V) RRE S 1350 £5.0n & ok
EERABEEAYELE=LE V) RRE S 12400 £5.0n & ok
EERABEEAYELE=LE V) RRESEE 1450 £5.0n & ok
EERABEEAYELE=LE V) RREZE®E 2500 £&5.0n % ok
EERABEEAYELE=LE (VH RRESE® & 50 £5.0m % 4,580
EERABEEAYELE=LE (VH RRESE® £ 65 £5.0n & B
EERABEEAYELE=LE (VH RRESE® £ 75 £5.0m % 8,990
EERABEEAYELE=LE (VH RRASE® 100 E5.0n % 14,300
EERABEEAYELE=LE (VH RRESE® 150 £5.0n % 28,000
EERABEEAYELE=LE (VH RRESE® 2200 E5.0m % 42,900
EERABEEAYELE=LE (VH RRESE® 250 E5.0m % 64,300
BERKREERYEBEEZILE (H) RREZEE 2300 £K5.0m Z:N 112, 000
EOMS GEEAYELE=ILE)

KERBEAK UL E L ERTE (SBE) Vhryb Mg @13 @ -
KERBEAK UL E L ERTE TSBE) Vhryb Mg @16 @ -
KERBEAK UL E L ERTE TSBE) Vhryb Mg 820 @ -
KERBEAK UL E L ERTE TSBE) Yy b Ay @5 @ -
KERBEAK UL E L ERTE TSBE) Vhryb Mg 830 @ -
KERBEAK UL E L ERTE TSRE) Uiy b Mg 840 @ wrx
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KERBEA Y ELE =L ERT (TSRE) Uhryb A 850 @ -
KERBEA Y ELE = LERE (TSHE) Uiy b Mg 865 @ -
KERBEA Y EE = LERE (TSHRE) Yirybk Ay &5 @ -
KERBEAYELE = LERE (TSRE) Uiy b Al 100 @ -
KERBEA Y ELE = LERE (TSHE) Uy b A 125 @ -
KERBEA Y ELE = LERE (TSRE) Uiy b Al 150 @ -
KERBEAY S E = LERE (TSRE) BEYY Y A 16x13 @ B
KERBEA Y EE = LERT (TSHE) BEYY Y A 20x16 @ -
KEREEAY L E L ERE TSRT) BEYY Y A 25x16 @ -
KEREEAY L E L ERE TSRT) BEYY Y A 25%20 @ -
KEREEAY L E L ERE TSRT) BEVY Y A 30x25 & -
KEREEAY L E L ERE TSRT) BEYY Y A 40x30 & -
KEREEAY S E L ERE TSBT) BEYY Y A 50x40 & -
KEREEAY L E L ERE TSRT) BEYY Y A 65X50 @ -
KEREEAY L E L ERE TSRT) BEYY Y A T5X50 @ -
KEREEAY L E L ERE TSRT) BEY Yy A T5x65 @ -
KEREEAY L E L ERE TSBT) BEVY Y A 100x75 @ B
KEREEAY L E L ERE TSBT) B2V 4y A 125X 100 @ B
KEREEAY L E L ERE TSBT) @2V 4y FAR 150% 125 @ B
KEREEAY L E L ERE TSRT) SLIVE b Mg B13 @ -
KEREEAY L E L ERE TSBT) SLIVE b A 16 & -
KEREEAY L E L ERE TSBT) SLTYE b Mg 20 & -
KEREEAY L E L ERE TSRE) SLIVr b A 825 & -
KEREEAY L E L ERE TSRT) SLTYE b Mg 830 @ -
KEREEAY L E L ERE TSRT) SLTVE b Mg 40 @ -
KEREEAY L E L ERE TSRT) SLTYS b Mg E50 @ -
KEREEAY L E L ERE TSBT) SLTVry b A 865 @ -
KEREEAY L E L ERE TSBT) SLIVSy b Mg &5 @ -
KEREEAY L E L ERE TSBT) SLTVry b A 8100 @ -
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KERBERVIELE=JLERTF TSHF) A=AV b ARz %13 & -
KERBERVIELE=JLERF TSHF) A=AV b ARz %16 & -
KERBERVIELE=JLERF TSHF) A=AV b ARz 1220 & -
KERBERVIELE=JLERF TSHF) A=AV b ARz %25 & -
KERBERVIELE=JLERF TSHF) A=AV b ARz %30 & -
KERBERVIELE=JLERF TSHF) A=AV b ARz 1240 & -
KERBERVIELE=JLERTF TSHF) A=AV b ARz %50 & -
KERBERVIELE=JLERTF TSHF) *rvvF A 13 & -
KERBERVIELE=JLERTF TSHF) *rvvF A &16 & -
KERBERVIELE=JLERTF TSHF) *rvvF A 2 & -
KERBERVIELE=JLERTF TSHF) *rvvF A &2 & -
KERBERVIELE=JLERTF TSHF) *rvvF A &30 & -
KERBHERVIELE=JLERF TSHF) *rvvF A 40 & -
KERBERVIELE=JLERF TSHF) *rvvF A 50 & -
KERBERVIELE=JLERF TSHF) *rvvF Mg &I & -
KERBERVIELE=JLERTF TSHF) *vvd AR 100 & -
KERBERVIELE=JLERTF TSHF) *vvF AR 125 & -
KERBERVIELE=JLERTF TSHF) *vvF AR 150 & -
KERBERVIELE=JLERTF TSHF) IR ARz %13 & -
KERBERVIELE=JLERTF TSHF) TR ARz %16 & -
KERBERVIELE=JLERTF TSHF) IR ARz 1220 & -
KERBERVIELE=JLERTF TSHF) TR ARz %25 & -
KERBERVIELE=JLERTF TSHF) IR ARz 1230 & -
KERBERVIELE=JLERTF TSHF) TR ARz 1240 & -
KERBERVIELE=JLERF TSHF) TR ARz %50 & -
KERBERVIELE=JLERF TSHF) IR ARz %65 & -
KERBERVIELE=JLERF TSHF) TR ARz %75 & -
KERBERVIELE=JLERTF TSHF) IR Afiz #2100 & -
KERBHERVIELE=JLERTF TSHF) IR ARz 12125 & -
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KERBEAK UL E L ERTE TSBE) AR AR 150 @ -
KERBEAK L E L ERTE TSBE) F—X  Ap 13x13 @ .
KERBEAK YL E L ERE TSBRE) F—X A 16x13 @ .
KERBEAK UL E L ERTE TSBE) F—X A 16x16 @ .
KERBEAK UL E L ERTE TSBE) F—X A 20x16 @ .
KERBEAK UL E L ERTE TSBE) F—X A 20x20 @ .
KERBEAK UL E L ERE TSBE) F—X A 25x20 @ .
KERBEAK UL E L ERTE TSBE) F—X M 25x25 @ .
KERBEAK UL E L ERTE TSBE) F—X M 30x25 @ .
KERBEAK UL E L ERTE TSBE) F—X AR 30x30 @ .
KERBEAK UL E L ERTE TSRE) F—X A 40x30 @ .
KERBEAK L E L ERTE TSBE) F—X A 40x40 @ .
KERBEAK UL E L ERTE TSRE) F—X AR 50x40 @ .
KERBEAK UL E L ERTE TSBE) F—X A 50x50 @ .
KERBEAK UL E L ERE TSBE) F—X A 65x50 @ .
KERBEAK YL E L ERTE TSBE) F—X M 65x65 @ .
KERBEAK L E L ERTE TSBE) F—X M T5x65 @ .
KERBEAK UL E L ERTE TSBE) F—X Mg T5x75 @ .
KERBEAK UL E L ERTE TSBE) F—ZX A 100x75 @ _
KEREERYEILEZILEHRF (TSH#F) F—X ARz 100 x 100 & -
KEREERYEBILEZILEHRF (TSH#F) F—X ARz 125x100 & -
KEREERYEILEZILEHRF (TSH#F) F—X ARz 125x125 & -
KEREERYEBILEZILEHRF (TSH#F) F—X ARz 150x 125 & -
KEREERYEILEZILEHSF (TSH#F) F—X ARz 150 x 150 & -
KERBEAK UL E L ERTE (SITRE) 90° RUE B @50 @ -
KERBEAK UL E L ERE (SITRE) 90° RUE B @65 @ -
KERBEAK UL E L ERTE (SHTRE) 90° RUE B &I @ -
KERBEA S E LV ERTE (SITRT) 90° RVE B 8100 @ .
KERBEA S E LV ERTE (SITRT) 0° RV E B @25 @ .
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KERBERVIELEZJLERTF TSMIHF) 90° RV K Bff, #2150 & -
KERBERVIELE=ZJLERTF TSMIHF) 90° RV K Bft, #2200 & -
KERBERVIELE=JLERTF TSMIHF) 45° RV R Bfz %50 & -
KERBERVIELE=JLERTF TSMIHF) 45° RUE Bfz %65 & -
KERBERVIELE=JLERTF TSMIHF) 45° RV R BRz %75 & -
KERBERVIELE=ZJLERTF TSMIHF) 45° RV R Bfiz %100 & -
KERBERVIELE=JLERTF TSMIHF) 45° RV R Bfiz 125 & -
KERBERVIELE=JLERTF TSMIHF) 45° RV R Bfiz %150 & -
KEAEERYEILE-ILERF TSHMITHF) 45° RUF Bft, 200 & -
KEAEERYEILE-ILERF TSHITHF) 22 1/2° N> FBfs 850 & -
KERAEERYEILE-ILERTF TSHIHRF) 22 1/2° N> FBfs %65 & -
KEAEERYIEILE-ILERTF TSHITHF) 22 1/2° N> FBRs &5 & -
KERBERVIELE=JLERTF TSMIHF) 22 1/2° N> FBfs  &100 & -
KERBERVIELE=JLERTF TSMIHF) 22 1/2° N> FBfs %125 & -
KERBERVIELE=JLERTF TSMIHF) 22 1/2° N> FBfs  &150 & -
KERBERVIELE=JLERTF TSMIHF) 22 1/2° N> FBfs %200 & -
KEAEERYIEILE-ILERF TSHITHRF) 11 1/4° N> FBfz %50 & -
KEAEERYEILE-ILERF TSHITHRF) 11 1/4° N> FBfz %65 & -
KEAEERYIELE-ILERTF TSHITHF) 11 1/4° N> FBfg #&75 & -
KERBERVIELE=JLERTF TSMIHF) 11 1/4° N> FBfz %100 & -
KERBHERVIELE=ZJLERTF TSMIHF) 11 1/4° N> FBfz %125 & -
KERBEARVIELE=JLERTF TSMIHF) 11 1/4° N> FBfz 150 & -
KERBERVIELE=JLERTF TSMIHF) 11 1/4° N> FBfz %200 & -
KEABEERYIEILE-ILEHF (TSH#F) FLyHfoaqo b &5 & -
KEABEERYIEILE-ILEHF (TSH#F) FLyHfoaqs b #100 & -
KERABEERYIEILE-ILEHRF (TSH#F) FLyHfoaqo b #125 & -
KERABEERYIEILE-ILEHRF (TSH#F) FLyHfoaqs b #150 & -
KERABEERYIEILE-ILEHRF (TSH#F) FLyHfoaqr b #200 & -
KEABEERYIEILE-ILEHRF (TSH#F) Viry b #200 & -
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% Lo ] B
KERBEERYIELE-—LERTF TSHF) Yy bk %250 &
KERBEERYIELE-LERTF TSHF) ZEEV7ry E 200x150 &
KERBEERYIELE-LERF TSHF) FEEYV7y + 250x200 &
KERBEERYIELE-LERTF TSHF) 90° N K %250 &
KERBEERYIELE-LERTF TSHF) 45° Nk $E250 &
KERBEERVIELE-LEHRTF TSHF) 22 1/ NV K #2250 &
KERBEERVIELE-LEHRTF TSHF) 1 1/48 RO K 2250 &
KERBEERYIELE =L ERF TSHF) EBAYNSLI VY b I3 &
KERBEERYIELE-—LERF TSHF) EBAYNSLI VY b E2 &
KERBEERYIELE-LERTF TSHF) EBAYNSLI VY b &2 &
KERBEERYIELE-LERTF TSHF) EBAYNSLIT VY b E30 &
KERBEERYIELE=—LERTF TSHF) EBAYNSNLI VY b FL0 &
KERBEERYIELE-LERTF TSHF) EBAYNSLIT VY b E50 &
KERBEERYIELE-LERTF TSHF) EBAYNSNLIT VY b %65 &
KERBEERYIELE-LERTF TSHF) EBAYNSLI VY b &S &
KERBEERYIELE-LERTF TSHF) EBAYNLTVry b 100 &




